	(START)    I am y=______
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You have a line with gradient 4 and intercept at y=3
	I am y=_____
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You have a line with gradient 1 and intercept at y=1
	I am y=_____
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You  have a line with gradient 1 and intercept at y=4

	I am y = ______
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You have a line with gradient 2 and intercept at y=0
	I am y=______
[image: image5.png]"

o w o«

2




You have a line with gradient 5 and  intercept 5
	I am y=______
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You have a line with gradient -2 and intercept at y=1

	I am y=______
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You  have a line with gradient -1 and intercept at y=0

	I am y=_____
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You have a line with gradient -2 and intercept at y=0
	I am y=_____
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You  have a line with gradient ½  and intercept at y=0

	I am y = ______

[image: image10.png]GG





You have a line with gradient 1/3   and intercept at y=1
	I am y=______
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You have a line with gradient      -2/3  and y intercept at 2
	I am y=______
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You have a line with gradient 1 and intercept at y=2


